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Which planet in our solar system is known
as the red planet ?

(A) Jupiter (B) Venus

(C) Mars (D) Mereury

TR W 42q & fom 7% @) @ 7 & W
4 WM S ¥
(A) gewfq

(C) wme

(B) ¥
(D) gu

The Chief Justice of the Supreme Court
can only be removed from his post by :
(A) Impeachment

(B) Office Memorandum

(C) Plebiscite

(D) Privy Council

ITadn AT § qed Il B 3§k 18
¥ TG S THAT T

(A) mefi@r & gra

(B) ®Ei@d A=

(C) SHHa Uz

(D) Wt wrstaad

'EL-NINO' is the word -
(A) Chinese (B) English
(C) Spanish (D) French

TA-AAY I=F & —
(A) 5iE| (B) Spmil
(C) afqa (D) wa

The main reason why farmers arc able to

grow three different crops in a year is °

(A) Well developed irrigation system

(B) Availability of agricultural credit

(C) Government's agriculture policy

(D) Availability of high-yeild variety
seeds

Rrarl ara o ad ¥ 9 v wee o

& O gEF B §

(A) gfamia R yome

(B) pfv—ar@ & Iqweerar

(C) @l iy fy

(D) Ta-3ust fFe aret diSll i Iqderar
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The minimum age [or becoming y,,

President of India is

(A) 25 ycars (B) 30 ycars

(C) 35 vears (D) 21 years

W 1 et g @ (g FHaH o &
(A) 25 (3) 30 99

(C) 3574 (D) 21 a9

K. Sivan was the Chairman of -
(A) DRDPO (B) ISRO

(C) SEBI (D) RBI
®. fgam aremey 9
(A) DRDO & (B) ISRO &

(C) SEBI % (D) RBI &

Who is the first female President of India?
(A) Nirmala Sitharaman

(B) Pratibha Patil

(C) Sushma Swaraj

(D) Sarojini Naidu

I BT JoUq A1 A BT T 7

(A) frder darmm

(B) wfaw aifes

(C) gua @

(D) | @

'Rajendra Setu' is located on which river?

(A) Ganga (B) Baghmati
(C) Kosi (D) Mahananda
o= &g 69 78 T Reg & °
(A) T (B) armafd

(C) B (D) HEF=I

If the diagonals of a rhombus are of length
6 cm and 8 cm. then its side is equal to
(A) 5 cm (B) 10 cm

(C) 14 cm (D) 20 cm

i U gHIgT & Aol & T 6
T 8 T T, A IR ST qCAT F. -
(A) 584 (B) 10 &7

(C) 14 §@ (D) 20 g
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Rate of change of linear momentum is
called :

(A) acceleration

(B) torque

(C) force
- (D) moment of inertia

s GO F qee @ T B e ©
(A) =@

(B) samget

(C) s«

(D) wige st

The formula used to calculate the area of
a rectangle is -

T A B GTRA e B g & -
(A) 2( +Db) B) 2Ixb

(C) Ib(l +Db) D) Ixb

Which of the following devices converts
electrical energy into mechanical energy?
(A) Electric iron

(B) Electric bulb

(C) Electric geyser

(D) Electric motor

e § ¥ B gfr Rga oot @ At
Fo § uftafaa & & ¢

(A) foaga el

(B) feg s

(C) ferga i

(D) faga #@ex

Which of fthe following needs a proof %

(A) Axiom (B) Theorem
(C) Definition (D) Postulates
frfafed 5 4 feam g a0 &
Maahdr &, ?

(A) w@afg (B) v

(C) ufrsrem (D) aifyareon

3
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14 =\FE & @A e wmar § ¥ 7

(A) " (B) @@arn
(C) orad (D) sreraTan
Iill in the blank with the correct answer

choosing from the options that follow :
[ waited for him until he

(B) had come

(D) has come

(A) came

(C) comes

Raw materials and money in hand are
called :

(A) Working Capital

(B) Fixed Capital

©) 'Human Capital

(D) Both (A) and (B)

Hedl 7 T H T B Hel ol ©
(A) HESE ol

(B) fert gof

(C) == i

(D) (A) = (B) <

The 'International Literacy Day' is
observed annually on which day ?

(A) 10" October

(B) 15t August

(C) 8t September

(D) 30th November

‘TS e Ry wid R fet wmen
S s 7

(A) 10 FEET

(B) 1 &d

(C) 8 faam

(D) 30 "=t

PILO.
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Book "The Origin of Species" was written
by -

(A) Charles Darwin

(B) Lamarck

(C) Carolus Linnacus

(D) Robert Whittakar

‘T ARG aife el (@i @ saar)
Jwe foret -

(A) o =1 g

(B) w9 g1 |

(C) H0e| s 7T

(D) e fadat ama

'Motera’, the world's largest cricket
stadium has been renamed as -

(A) Arun Jaitley Stadium 4
(B) Rajiv Gandhi International Stadium
(C) Narendra Modi Stadium

(D) Holkar Stadium

997 & a9 a3 fhbe Rieaw, W, &1 T
I @ T -

(A) @& Sl wfsaw

(B) Tmig g e wisaw
(C) T&= 9 =Rizaw

(D) srwpt wisam

The hot. dry winds blowing in north and

north western India is called

(A) Chinook  (B) Fohn

(C) Blizard (D) Loo

S0 du Iy wd ¥ 9o g ™
qAT I TR el & —

(A) Frrs (B) wres

(C) =S D) 7
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Most abundant 'lfacFor of prOdUCligm
country like India 1s: )

(A) ‘Land (B) Labour
(C) Capital (D) Knowlegg, *
WRE S %ﬂﬁwmqfﬁwﬁm
S H AT g
() B)
(C) f{;qﬁ (D) =™
‘ot e fagror o1z ¥ -
(A) e,;p—lm (B) eifert
(D) R IREC 1]

(C) Latfragpa

The first woman Chief Electigy
Commissioner of country was :

(A) S, Dhami

(B) “Vijayalaxmi Ramanan

(©) VS Rama Devi - |

(D) '--Mee_ra Kumar
%sr%f'iumnﬁmgmﬁrafa? g o
(A) Td. gl

(B) 1 feoraeres RGRES

(€) Fwa. T

(D) i g

In which country did the first use of
communism take place ?

(A) China (B) Cuba

(C) Russia (D) North Korea
e 99 WOW YA {69 <91 W gem av ?
(A) 9 (B) wgam

(C) &H (D) ST Bt
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1_2 3.1
If x+;— then *° += =9

As compared to banks, rate of interest
charged by money lenders is

(A) lower
(B) same
(C) slightly higher
(D) much higher e

éﬁﬁwﬁw%ma@aﬁw-

T H B R N
(A) &9
(B) w9m

(D) wga aiftres )

Movement of water molecules;through a
selectively permeable membrane is called
(A) Diffusion -

(B) Osmosis

(C) Active Transport

(D) Imbibition “"*“

WA & el W M W wueE e
Tt g B o o wey ¥ - U

N

S
(A) feraor \g&
(B) wxmEor : 2
(C) wfera qfass

(D) arq:9mum
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Silver articles become black after some

time when exposed to air because of
formation of a coating of

(A) Silver chloride
(B) Silver sulphate
(C) Silver nitrate

(D) Silver sulphide
Gl 9 # g Rt Wz 3 w7 Ryt EIEIS I
BTl TR ¥ R Ty

TR wiear & w@fa ¥ -

(A) ST

(B) WM wem i e

(C) mur Rz femat

(D) witerz drme arams ed

In Democracy final Authority rests with -
(A) Parliament

(B) People

(C) Council of Ministers

(D) Bureaucrats

e & oiftm T P @ ¥ -
(A) d¥8g

(B) st

(C) i afteg

(D) Rame

'Mayurbhanj' mines are known for :
(A) Coal - (B) Silver

(C) Iron-ore (D) Gold

TR T e fg e o ¥ e
(A) e (B) =i
(C) wr-ermen (D) @
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33 Every rational number is a/an -

34

(A) Rice (B) Oats

(C) Milk (D) Sesame

o wifq Frefataa & 9 fead aTRIoB IATEA
g gafya & 7

(A) 9w (B) %

(C) o (D) faa

35 Who was the leader of America's freedom

struggle ?

(A) Jefferson (B) Martin Luther
(C) Lincoln (D) Washington

T

247

32 Whose role was prominent in the Bastar

movement ?

(A) Gundadhur

(B) Jatra Bhagat

(C) Mangal Pandc

(D) Birsa Munda

T AR T fmw B e w7
(A) TR

(B) sau wa

(C) #r Ui

(D) fozam ge

(A) Natural number

(B) Integer

(C) Whole number

(D) Real number

TE IRHT S B § U —
(A) wiga g

(B) qurish

(C) ot g

(D) arafas d@en

White Revolution is related to increased
production of :

ST % Toaar 9™ & Aar dH o ?
(A) THTEH (B) e TR

GET IT ON
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ints the CAG (Commmm

g 1
36 Who apP ) of India ? 5

Auditor General
(A) Prime Minister
(B) President
(C) Governor

(D) Vice President

o 3 CAG (Frefsres Tl FETean Ty,
Prgfir i T @ L

(A) garHl

(B) regufa

(C) T

(D) S9 regufd

37 Which traders first reached Indo-Chip,
during 15™ century ?
(A) Portuguese (B) German

(C) British (D) French

154 el ® B W A 99 | Ued -
99 ugd ?

(A) gl (B) s+

(C) f&drar (D) %a

38 In which state the cleanest village of Asi
is located ?

(A) Manipur

(B) Arunachal Pradesh

(C) Meghalaya

(D) Mizoram

TR @ T e e, few e A Rua

(A) =fTgR

(B) eT&UEd WaaT
(C) W™

(D) T

(C) feiep (D) aifdire
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39 The river Bhagirathi is joined by the river

42 The hormone which regula
Alaknanda at : gulate blood sugar

level in body is secreted by -

(A) Rudra Prayag (A) Thyroid

(B) Devaprayag (B) Pancrecas

(C) Karna Prayag (C) Kidney

(D) Vishnu Prayag (D) Pituitary

DT T ARy T Y P ¥ A S BT A o e a Prafra
. HIAT &, SHHT v fRaT wiar & -

(A) T=wam §

B) dawam 3 (&) et ara

W) | (B) o=y Zra

(0) Imm (©) T (g7) ama

40 A sum compounded annually becomes | 43 Why does ice float on water ?

25 . (A) Ice is full of air
— times of itself in 2 years, then the

16 (B) Density of ice is less than water
rate of interest per annum is (C) Water is deeper than ice
T 7 A% Tehghg TS Bl & ¥ 2 Tul (D) Ice has a higher density than water
e 2D ' ?
¥ T BT — IO S W § Al e @ ] % A F A E
g%a&%lé (A) o6 ¥ arg w0 o ¥
A.l7"V B) 25% (B) §% &1 B9d UMl ¥ HH B §
o) Soovs @ & (C) Ul 9% § U@ TEA A &
(2 Silomo 2 % (D) 9% & g I | ST BT ©
41 The climate of India is - 44 The requirement for production of goods
(A) Tropical Humid | and services is :
(B) Tropical Arid (A) Land

(B) Labour and Physical Capital
(C) Both (A) and (B)
(D) Social Institutions

(C) Tropical Monsoonal
(D) Tropical Very Humid

Tl el '%ﬁug%a;a‘ | qegelt @ darell & ST % g oAy €
(A) ST .
(A) o
(B) SomENE I (B) o @ it I
(C) SwmradE AL (©) (A) T (B) 2
(D) wwsfeadE s (D) wﬁﬁa e
, PT.0.
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e

Who among the following was not
appointed as the Deputy Prime Minister
of India ?

(A) H.N. Bahuguna

(B) De&:ﬂ;al

(C) Maqrarji Desai

(D) L. Ki! Advani

Prer & *ﬁm WIS & Uy e
®WE? o

(A) TETH. T

(B) e

(C) =rygsh <
(D) Twdl(F arEaml
—

L 2]

The largest freshwater lake in India is @

(A) Walar (B) Bhimtal
(C) Loktak (D) Nainital
aRE ¥ W arel B wed 99 W ¥ -
(A) e (B) sfraret
(C) wdas (D).

o . A

1“”“

Echo is<heard due to:

(A) reﬂ@tion of light waves

(B) refigétion of sound waves
© refrél'e,tion of light waves

(D) reflection of radio waves

uﬁiwﬁ(@ﬁ%‘cﬁ%:
(A) S % T % B
(B) saﬁg%vﬁ%waéﬂ%m
(C) m%wﬁ%ma?hasw
(D) i—%\z‘fgwﬁ%wﬁﬁ%m

| o~ |
Areffad § ‘gfuftet @1 wd wf R 7

(B) g+ R

(A) g8 + fer
(D) g + ferx

(C) g + foT
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‘_@_ﬂvﬁmﬁaﬁm’ﬁb{'@mwm
ad & -
(A) Tm
(C) agT

(B) @@l
(D) =t

The joint session of Parliament is presided
by :

(A) President of India

(B) Speaker of Lok Sabha

(C) Prime Minister

(D) Chairman of Rajya Sabha

- g % g A B T B €

(A) @ %1 Tt
(B) Wi 9T I STEHE
(C) g |

(D) =T T BT FATIR

Rrae & fow R & foeie sz g
wE

(A) Si-ararfr

(B) SHE-&TE .

(C) sfi-erg

(D) enfawta—frdma

Citric acid occurs in the free acid form

in- ‘
(A) tamarind (B) vinegar

(C) apples (D) lemons
ArEfe o gA o % w9 H R © -
() T E (B) Reeh A

© ¥@¥ (D) A

PO
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53 Who Supervises the function;

ing of formal
sources of loans in [niy 9
(A) NITI Aayog
(B) Union Finance Ministry
(C) State Bank of Indiy ")
(D) Reserve Bank of Indig “ S8
I 5 & sfvvaien W ardyord
& TAAETT BT e & -
(A) fT s ™)
(B) w9 R HEmer -
(C) e ¥z -
(D) 9 e §e
"
54 Which of the following is a lubricant &3
the usc of heavy machines ? -
(A) Bauxite (B) Phosphorus z:.iﬁ
(C) Graphite (D) Silicon oil
Pretfefs % & Tl ol 3 s % g
B B E 7 A&
(A) aTFETEE (B) wranrg
(C) IwTge (D) fafemr et -
55 Fill in the blank with the correct optlon( :
She returned home opened thp
door. q
(A) since (B) because aL
(C) until (D) and \-‘:; 60
4 =
56 The longest part of alimentary canal in
~ humans is "
(A) small intestine l(')
(B) large intestine =]
(C) stomach | <
(D) oesophagus o)
a3l ¥, _ ATETCAT 1w
T "‘: 61
(A) gar= |
(B) gear
(C) sy
(D) ufga
TIT ' 9

o @ Adda247 Telegram Channel
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57 ‘ag’ 91 & qgaTd @Y b e !

(A) Tgah (B) =y
(C) =y (D) =gd

Madhubani style of folk painting is
popular in which state ?

(A) Uttar Pradesh

(B) Rajasthan

(C) Bihar

(D) Madhya Pradesh

Tegert e Fo S0 P T w3 7
(A) TTX TR -

(B) Teram

(©) faer

(D) weg Wt

The northern most range of Himalayan
mountains is called

(A) Himadri (B) Himachal

(C) Shivaliks (D) Satpura

femrera welq &t S g @ AW § -
(A) femfy (B) fewmaa

(C) Rranfeen (D) wagst

Choose the correct option to the question
from the options that follow :

Who took "diksha" from Guru Rav1das ?
(A) Guru Ramananda

(B) Raidas

(C) the pandits of Kashi

(D) Rani Jhali

Choose the correct preposition {rom the
given option to fill in the blank :

The sound came the room.
(A) from (B) at
(C) on (D) with

PT.0.
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Who is k i
ho 1s known as the 'Forest Man of

India'?

(A) Sunderlal Bahuguna

(B) Rajendra Singh

(C) Jadav Payeng

(D) Marimuthu Yoganathan

fR8 W A9 ot shear e ¥ 7
(A) =& qEIAT

(B) s Rie

(C) wea waT

(D) wTegey ARTae

The motion of planets is governed by :
(A) Newton's law

(B) Kepler's law

(C) Gravitational law

(D) Boy]e'vs law

Tl I Td & FdeT g E

" (A) A % Frawm g

64

(B) %=X & g g

(C) TE@mRyw & fram g

(D) g & a9 &l

Choose the correct meaning of the given
word from the options that follow :

Bellicose . _
(A) comfortable (B) aggressive
(C) calm (D) sad

Two bones are connected to each
other by

(A) Adipose (B) Cartilage |
(C) Tendon (D) Ligament

S et o # TE-gEt ¥ Rl o2
(A) I9aHd
(C) &

(B) SRy
(D) g

TTT -
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r thousand malg,

refers to :

(A) Sex Ratio

(B) Literacy Rate

(C) Infant Mortality Rate
(D) Birth Rate

oft T T gedl gT At Bl WE
FHET §

(A) fermrgar

(B) werRan X

(C) frg g =X

(D) S X

What is the aim of Sarva Siksha Abhiyan?

(A) To provide elementary education to

women.

To provide elementary education to

rural poor.

To provide elementary education to

all children in age group 6-14 years.

(D) To provide elementary education to
urban poor.

ad e s @ 39 ¥

(A) et @ grifes frer < |

(B) wrior Pref By wrifs e < |

(C) 6-14 o 3y T T Tl 1 ALHF
farem <=1 |

(D) gl fref ey wrifires ferem & |

B)
©

If two angles are complements to each
other, then each angle is :

(A) a right angle

(B) a reflex angle

(C) an acute angle

(D) an obtuse angle

o @ B T G F [ &, @I
BT F - |

(A) Th FFH
(B) & YEhiT
(C) Th = @
(D) T& rfesw BIoT
P.T.0.
el
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fl‘hc first anlibi()[ic diSC
ic1ll: ) OVCI.C(I e
A) Penicillin was -
o Tetracvels Streptomye
(C) ctracycline Nc() yein
mycip

g T gy ey (

(/\) ﬁﬁﬁ?ﬁrﬁ

ARRLIEE Y
(C)

e
(D) Primmafys

10 Whid‘]‘ l?mlCl‘iﬂl IS used (o make solar cel]”
(A) Silicon (B) Carbon .
(F‘) \[‘e;:ﬁa; (D) Aluminiym
j:ma; ? -0 e i
(A) EIGERS (B) @

(C) = (dram) (D) gy

7l Radish is a modifjeq : |
(A) Root (B) Shoot
(C) Fruit (D) Flower
Tl T BTG
(A) T E | (B) = ¥ |
(C) & & | (D) gu % |

72 Choose the correct option to fill in the

blank :
He and 1 playing yesterday.
(A) were (B) has been
(C) am (D) is

13 India has -

(A) One: Party system
(B) Two Parlyv system
(C) Multi Party system
(D) Autocratic government
LIEGIR: I
(A) T Telrg R
(B) fg g sgaren
(C) @5 3ol sgawn
(D) Friger gw@R
7

11

74

75

76

77

. Adda247 Telegram Channel

Choose the correct form of the active
voice of the following sentence from the
given options :

The book was read by her.

(A) She had read the book.

(B) She read the book.

(C) The book had been read by her.

(D) She reads the book.

TH G HI T Bl & TR E -
(A) TgER wer™

(B) dr S

(C) =

(D) F=R TREW

g e & 'l s W9 & watga € 7
(A) Tl <& I, e

(B) =&, arafy, A

(C) sy, Ty,

(D) fx, o, fran

Where did TISCO was establish by
Jamshedji Tata in 1907 ?

(A) Sakchi, Bihar

(B) Bhadravati, Karnataka -

(C) Rourkela, Odisha

(D) Bhilai, Chhattisgarh

1907 %, st 2T gRy fowhy & e
Gt i A |

(A) wdl, faer

(B) aTerll, &iee

(C) TTSTeha, aiifsem

(D) i, weirTe

P.TO.
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78 According to the Census 2011, the state

79

80

yaving the maximum Population density
in India, is- '

(A) Uttar Pradesh o
(B) Maharashtra LeYy
(C) Bihar e
(D) West Bengal "

2011 % ST 3 S e & aqfimsan
STTHEAT ¥ AT o ¥ - oo
(A) STX W

(B) #ERTSE
D) v e -9
(D) ui¥em §wm

Wi
e
g
<

v

What sum of money will aﬁlbudf;iio
% 2508.80 at 129 ‘

p.a. compoun.d_;éd
annually in 2 years ? Y .. j

%mawz,aéﬁlz%wﬁaﬁaﬁa;mﬁ

W F T 2508.80 = ST Sl =,
T e B 7 | oy
(A) T 2000 (B) T 2100 4
(C) % 2200 @) 2250
£y

glucose is broken

-

In aerobic respiration,
down into:

(A) Ethanol and CO,
(B) Lactic acid and CO,

Y
(C) CO, and water :},
(D) Ethanol and water ;3
T STET A, BT H gy T
BT & o
(A) wada wd CO, f; |

(B) dfem e T CO,
(C) CO, T v
(D) Uit T o
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In which city does head .ofﬁc.e of
International Court of Justice situate

(A) Moscow (B) Rome
(C) Hague (D) Sydney
St =T w1 Jedrd e aw

R & 7
(A) Hrem (B) 1™
(C) ¥ (D) fa=

Choose the correct English translatio
the given sentence in Hindi :

ot drE BieT ¥

(A) To learning Geography is diffic

(B) Geography is difficult to 1eam_

(C) Geography is a difficult subjec
study.

(D) There is a great difficulty
Geography. ,

Nitrogen gas makes up % of
atmosphere. o
e T, argEsd § e % o
SURYq T ?

(A) 50%
©) 21%

B) 7%
(D) 78%

Which is not the benefit of educatic
the later years of life ?

(A) Good job and salary |
(B) No development of health serv
(©) Development of values of life
(D) Enhancement of national incon

?T%W%ﬁﬁfﬂmaﬂmw
(A) oot 2t 5 3
(€) Fﬁa?gaﬁwﬁ:?

P
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The Gr, o s s PR 89 Who pl
Bemle i 0 i -
10110wed E Invaders ip India were Satyaglzazllzxeg e-lead; afe in Hatdgli
(A) the MUgm : ‘7 (A) Vallabhbhai Pate]
K
(B) the Sakas and (he H ~ L e il
©) the Britisho, uns - (C) Jawaharlal Nahery
5 rs ~— (D) Bal Gangadhar Ti]
(D) the French - aATER T l;lf;m
(v ? g@ ﬁb‘ﬂ'}l ﬁmg
Lo d@re
An ex . '
(An P}ample of chemical change is  (A) Sewnd v
) freeng of water (B) e miefsh
(B) melting of sugar t? (C) Samtem™ Yes
((I(;; souring of milk . (O) = e e
c . . L
Wystallisation of salt 9@}. The 'GDP' denotes -
{A'H'q‘alm RIECKT o S - (A) General Domestic Parameter
(A) Sq &5 S o (B) Gross Domestic Product
(B) = o Rrerey i~ (C) Gross Diversify Product
©) 28 = o B g)lgp(general Domestic Production
D) T B o 0 a) mmi; —
LY
. i (B) ¥oa T samg
Which of the following is not 'Rabi' crop? | © S
(A) Wheat (B) Mustard %} (D) T HX, e
(C) Gram (D) Jowar 9{1; Unde 1
. L3 I employment o
ﬁ":lﬁvTﬁwgﬁ i @?ﬁ’-r—%ﬁ W wEa @ ¥ 2 | 7 (A) do not want to \;S)lrlrs et ALl
(A) % (B) gay (B) work in lazy manner.
©) Cat (D) we e _(C) are working less than what these are
Ty B capable of doing. :
are not pai i
Amnesty International is a IS ) p:;dg %h:; V;r‘(l);k.
A) E . L o . \
(B) c‘o‘nomlc orge.lms.atlon b (A) &M BT T Ty ¥
(B) Military ().rganlsatlon &’ (B) 9w 31 & &m @ ¥
© Hu1.n.an Rights organisation i~ (©) o h o ¥ B T W g
(D) Political organisation (D) % B % wad sy T e
TRE g W E |
(A) enfdes des 92 Choose the correct option :
(B) & @ Where did - Santosh Yaday go for her
© . <(:ollege education ?
qlqallhaSI{.El'lal A) New Delhi (B) Jai
N . ipur
(D) e 9"3"{ (C.) Chandigarh ‘(D) Lucknow
13 PT.O.
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Where was the first underground railway
built in India ?

(A) Mumbai (B) Delhi

(C) Chennai (D) Calcutta

WX ¥ Weel YR Y6 el amman man o ?
(A) Hag (B) el

(C) ==% (D) e

Civil Rights Movement in America was
started by :

(A) Martin Luther King Junior

(B) Nelson Mandela

(C) George Washington

(D) John Lewis

IR § AR SAIBTT S fhees ZT
& oo @ ar ?

(A) =ifET g i SR

(B) wwa Hea

(C) <t arfyires

(D) = T

Which event gave rise to the 'Concept of
Nationalism' ?

(A) Reformation Movement

(B) French Revolution

(C) Crimea War

(D) Treaty of Denmark

fPE T A A B AU B AH
fear ?

(A) gy e

(B) | @I whifd

(C) it &1 gg

(D) 3 @ Gy
96 fafe @S- Iy T & 7

(A) |ran (B) w@mEs

- (C) &g (D) FEa
TTT
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i trv is -
tizen of the country js -
The gi—lsite[(f];l]stice of Supreme Coyy
(A) Justice 2 ‘

: e Ministe 0
(E; F\lclll\]/fcatc General of India
(C) Advocd™
(D) Presmcny o .
91 1 9IH =
(A) T rar@d Bl T& "

Which of the following numbers com, "
. . N
the series 3. 11, 17, 23 e 7
Aot & @ @A HEA CL IR TI
Fomdr & 7
(B) 307
(D) 309

1
The amount of ¥ 10.000 in 15 years g

10% p.a. compound interest payable half
yearly is -

1 " (e
% 10.000 =1 1= Tut & faa 10% wfe a4 3

Tmghe =Sl Bl X W (B A TR @
T AT -
(A) T 11576.25

(B) T 11500.25
(C) T 11575.25 25

(D) T 11550.2:

What was the immediate cause ol the First
World War ?

(A) Militrism

(B) Assassination of Austrian Prince
(C) Growing International Anarchy
(D) Secret Treaties

wem f959gE @ At wroo @ o
(A) &=

(B) S % wrorgem <1 wen

©) %f 8 civrmir srerer
(D) 7= wfemy

Adda247 Instagram


https://www.adda247.com/
https://applink.adda247.com/d/XhqWf9lSap
https://t.me/adda247live
https://www.instagram.com/adda247_testprime?igsh=bjVoNGlpeGw2a3R3
https://www.adda247.com/
https://applink.adda247.com/d/XhqWf9lSap
https://t.me/adda247live
https://www.instagram.com/adda247_testprime?igsh=bjVoNGlpeGw2a3R3

	Template for PYP PDFs - Acrobat PDF - 1st page.pdf
	Blank Page




